Division (Without Remainder)

. 12 apples shared among 4 friends.

Each friend gets

N

. 20+5=

3. Tick the correct answer
30:6=
(a) 4
(b) 5
(c) 6

JUL

4. Ria bakes 24 cupcakes and puts 6 in each box.

How many boxes?

5. 18 chocolates shared among 3 kids.

Each kid gets

6. Fill in the blank.
28 +7 =

7. Divide equally.

6 balloons among 2 kids = each

8. Circle the correct one
21+7=
(a) 4
(b) 3

JUL

(c)5

9. 35 slices shared among 5 people

Each gets slices

10.Draw and divide

12 stars groupedin3s=___ groups
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12.24 students go into 4 buses equally

Students per bus =

13.Tick the correct sentence

(a)32+4=9 C]
(b)32+4=8 )
(c)32+4=7 [:]

14.40 pens are packed in boxes of 10

How many boxes?

15.18 cookies placed into 3 equal jars

Each jar has

16.Use the number line

< | | | |
| | | |

0 6 12 18
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18+ 6=

17.Divide using table
Table of 4: What is 32 + 4?

Answer:

18.Fill in:
0+3=

19.There are 48 gifts. 6 gifts in each row

How many rows?




